I will meet you to
(A) Where will you mee
(B] How will you meet me?
(C) Will you meet me?

(D) When will you meet me? -

6. The expression ‘holier than thou’ means
(A) pure

(B) religious

(C) moralistic

(D) sanctimonious

il in the blank with the suitable article.
(A the
(B) an
(€) a
(D) this
1.}_ Fill in the blank with the right option:
He was offended me unjustly.
(A) at
(B) for
(G with

(D) towards




14. The
. a;t;):myz of the word weird is
(B) Casual
(C) Tired
(D) Worried

)5,. Fill in with a suitable preposition:
He 1s taller than you | -
(A) with

(B) of

two inches,

(B).. .stagn.ai_:-qn
(C) uniformity
(D) stability

‘,18 Select the correct Bpe.i]mg
(A) Accommgdmgn =
(B} Accommodation
(C} Accomodation
{’D} Acommodation

h is the correct sentence?

Whic
son was seen roaming

/19~"
(

}} Anone- -eyed per
about the streets.
(B)

A one-eyed
about the streets.
(C) Theone eyed person was
about the streets.

Geen roMming

: as § YAITINg
_eyed person W5 seen roaming

(D) (One
¢ the streets.

abot

per‘;un wis sect FOAMINE

S

MTS/21
20, Thea:
hﬂ dn I.(ln}rm of the wordsupﬂiﬂclﬂ] s
(A) Deep
”_U Artificial
((-'_J Apparent
(D) True

@- Fill in the hlank withthe mitﬂhlﬁprep‘ositj'on;
He presided the meeting.
(A) over,_.
(BJ al &
(C) in .
(D) for

22. The serenity of the place overwhelmed me.
- Replace the underlined word with a suitabie
word.
(A) Noiselessness
(B) Calmness
(C) Isplatic-n
(D) Seclusion

23. The past tense of rewind is
(A) rewinded
(B) rewounded
_:(C) rewound
(D) None of the abave

24. The word ‘officious’ means
(A) self-important
(B) official
(C) serious
(D) enterprising

}5./ ‘A place where bees are Kept —
(A) Aviary

(B) Abattoir

(C) Granary

(D) Apiary -

Please Turn Over




29. “Letiers from Burma' is a book of essays

B i by
(A) Aung San Suu Kyi

(B) Rashbehari Bose

(C) Sarat Chandra Chattopadhyay

(D) Subhas Chandra Bose

30. ‘Perseverance’ rover was suceesgt“ully
Jlanded by NASA on the surface of

(A) the Moon
(B) the Mars
(C) the Jupiter
(D) the Sun

(A) =018 31 31 fo
(C) *qepr BUEe
(D) e o)

‘Perseverance’ S8 A Grerf o
{ARFTAA G4 WaeRe Sl 2, ot 5

(A) B '
R

(©) g2eife. :
(D) 33 -










. 0

41. How many
Colleges have become f
during the last ten years?

Itf-*n,

is

new Government Medicaj
nctional in West Bengal

(A) 8
- B)6
s
D) 3

42:? Who had designed the first Indian National
g7 -

- (A) Vicoji Rustam Kama

(B) Annie Besant

(C) Sarojini Naidu
‘ (D)Siﬁtar Nivedita

cheme for distribution of
vernment/Government

(C} quendralg[géég
(D) Dinabandhu Mitra

45. Theleader of the Narmada Bnchan.-mq;ﬁn
(A) Anna Hajare

(B) Medha Patker

(C) Ramdev

(D) Binayak Sen

D-7

| STy N ol R e

MT5/21

- /42/ (% ST 2203 51 ER) s « w3 7
(A) fora@ wam am_
(B) =itz
(C) Tzfaa w2y
(D) = el

3. AP I e g e/
waaarelfie/suti/ fAmERe o mibive @iae

gﬁfmﬂfﬁﬁ?@mmﬁr
(B) w1 ceifel ceitee et
(C) <ive =i eies are |
(D) = el oo et cfe

el w6 BN A1 ¢
(A) Tfeiva JEOTAIGR
(B) rdieie cam
(©) et 9
/mj. ey i

sl Ar50e WIOHTETH (Y THTRTER
(A) wiw ZE

(B) G AT

(C) Ao N
(D) s o

Please Turn Over
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46. Tnthe C@ustlmnan cflndm, ‘Protection of
Life and Pemnal Ltbe{by is guaranteed under
Article No.

“(AY-21
®) 49

48. The boundary line of Sundarban was
v demarcated by

(A) Hamilton Saheb

(B) Major William Tolly
{C) Scott

(D) Dampier and Hodges

49. Hydraulic press is based on
(A) Archimedes law
(B} Pascal’s law
(C) Reynold’s law
(D) Bernouli’s law

50. Badland topography is an 1mportam
characteristic of the following region ;
(A) Gulf of Kuich
(B) Sundarban Delta
(€) Konkan Coast
(D) Chambal Valley

Lol T W

I

AD. W el A, AW @ :ﬂﬁgqﬁ
FAer S 1 2 o g

21 '
L e
(B) 49 b
(C) 73
(D) 370
*

A/sﬁ;mz:iﬁﬂmmm@nw *
. ..

20
(A) Wipro
(B} HCL Technology

,_{Qj’ TCS
(D) Tech Mahindra

48. e T e e
(A) ZIifGs Atz
(B) (vera aferts B
(C) 55

49, ZiRgfer (oo FEAee 56 &
(A) SIRRTEET o

(B) #IFH0ER T -

(C) GwEss e

(D) NeTiferss o

wﬁt faufife wwray el owed

(A) wwog Beprea
(B) v 3-8iv
() ot G
(D) 59% Byt







(D) P;r Pan;al - Zaskar - Lar.iakh -

'ﬂ- .'1"hc variability of ra;l?lfall during August in
‘India would hammm@m&ﬁ generally at
(A) ]
(C) Jodhpur

60. Which of the following is not a unit of
distance? :
(A) Light year
(B) Parsec
(C) Furlong
(D) Jiffy

WW@
(A) s
®) #ifbre
(C) caejes
e

). ey we o pnen e
(A) ey

(B) s

(C) Wt

(D) fafie <




———
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61. If the length of the filament of a heg(er is
£ed by 10%. the power of the heater wil]
increase by about 9%
ease by ahout 11%
trease by about 19%
ase by about 10%

—

-

MT8/21

OL. "2 Bt iy W) 109 e, Rhaa

ey
(A) STigsifeias 9a, awra
(B) i 119 ateea |
(©) et 199 @)

(B) 4°C@Wmaw .
(©) 3 50, _
P o,

- PGSR 77 @ (freezing chest) $ta
SIENG W{ﬁ—

(A) 7205 2% F41 03 |

(B) TORRT | -

(O AR A At ke Ao

T e
(D) #Hfawe cate Tef = |

64. SraTeT SN 2011 seEE, FefEis

(A) 59T
® ok
(C) @A
(Dj Wi @ 78

5 1857-43 AF He (B FreATes TEnh

Rand by Chapel

(C)

(D) Assas

(A) o Sigane e we vy, .
ot o SR T~

() e fReel aEe Tafmm o e
. mEFce e |

(D) W9 T IR FES Affere e

Jackson by Anant Laxman

Please Turn Over
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66. The fullnwlng coastal area of India was
affumedby ‘Hudhud Cyclone' :
(A) Chennai csnst
(B) Kerala coast
.(f.:} Anﬁlmcmgt{

ﬂ. Article 21 of the Indian Consnﬁunnn ensues
{AJ Right to Rehgmn
(B) Due Process of Law
(C) Right to Life and Personal Liberty.
(D) Procedure established by Law

69. The solar cooker works on tha sme,
principle as -

(A) Bolometer
(B) Pyrometer
(C) Gmnhnuﬁe
(D) Solar PV cell

’h’i ‘The Subaltern School of historiography
was spearheaded by

(A) Shahid Amin
®) Ihnajif Guha

- (©) Partha Chatterjee
t?ﬁﬁ'-- Gaumm Bhadra

D12

. wrren e Soaphn ot s
a7 il e

(A) (38R TAT

(B) @ o

) oE O =

(D) 9% ToAgH —

._ﬂ./ AL ATHR BT e camet w
(A) 1987 =
(B) 1972 W51
(C) 2018 5w
Y 2019 fasbicsn

'(ﬁ) 7
© ﬁﬂﬁ:@w
(DY e wweve s ,

70. G feveels 2feensin a1 weame
(A) wifEw wrifiy
(B) wWfee ux
(C) =il Brfoi
(D) (e og



75. Siachen glaci
range :

(D) Shiwalik

(A) Karakoram
(B) Zaskar
(C) Pir Panjl

ermal Lvity (k) ang
nd has

MTS/21

MTS/21
L, ity o
; Ay : e
(8)- Moty "'v‘f'ﬁﬂf;:[ (k) w3 e ATt

diamond) e
‘A) B9 kg % 5

B) T k6 o 5
(<) B e B g

(D) % b e o

(A) Louise Gliick
(B) John Dranow
(C) Peter Handke -
(D) Peter Ackroyd

73. 3 922 4R T S T o
(A) 1:2
(B) 1::.5_-.
(© 1:4
(D) 1:8




{DJ Bhupendfaua -'Jbasm

80. Government of India passed the A:,L 0
protect the human rights in the year '
(A) 1990
(B) 1993
(C) 1995
(D) 2002
.[D] QGUZW




\,’ i Um}_efﬂwhmh ‘amendment of the Indian

Qensmu nthe ?Utmg age reduced to 18 from 21?7
(&)

2 R
(C} .51
©) 63

binary equivalent of decimal number

| @ 100:001
] (B 100110
| (C) 100101

(D) 100011

man:alkaynf _
{B) Fea.nd Zn_. R
(C) Snand Cu :
(D) Snand Pb

£ )

84. Whatis the maximum Government Subsidy
that can be availed by a beneficiary under the
Gatidhara Scheme?

(A) Rs, 50,000

(B) Rs. 1,000,000
(C) Rs. 2,00,000
(D) Rs. 5,00,000

85, The new station constructed and established
by India in March, 2012 for scientific research in
Antarctica is called

(A) Priyadarshini

(B) Bharati

(C) Maitri

(D) Dakshin Gangotri

. peat

[T R e _mm—r—y.

D-15

? 83, Sﬂlﬁm‘umdforjomg mmmtagpmer'__

| R

Ll (D) snoxcPb

(j_,]) Jra?il .r?<|'.-’|y|'+r

1A 2 (e rJr—I-r_

MTS721

9 GO A Al et
H 1859 259
CA) 60 &

(B) 62 @5, - B

i »
:‘()-mw
(D) 63=%
s ey 462547 a2 (Binary) 2l
(A) 100001
(B) 100110 ;{(,’ =
Ll ;‘- j ’ %

(C) 100:101 NEL-0
(D) 100011 12 e

-;_!T_“g

83. 4192 #IT (B1EE T AATE A Fow

(A) Fe &=t Cu
(B) Fe 93t Zn
(C) Sn &R Cu

| B4. ~Fowen FREAT SR avE 4w
el A T B HRHR SR TS T
(A) 50,000 B
(B) 100,000 Grl
(C) 2,00,000 Bt
(D) 5,00,000 Bt




(B) Harshavas
(C) Tulsidas
(D) Joydev

90. Judgesof Supreme Courtretire at the age of
(A) 60 years
(]':?:'.) 62 years
(C) 65 years
(D) 70 years

(A) 60 qeg
(B) 62 e
@) 65 T

(D) 70373




(D] Qmi Ind1a Mm-'ement-,

93. Who was the hero of Rampa Rebe[imn of
1922-249

(A:l Tanguturi Prakasam Pantulu
(B) Tiruppa Kumaran

(C) Puli Thevan D=
(D) Alluri Sitha Rama Raju

94. The Asiad Gold Medalist Boxer passed
away recently at the age of 42. Who is hefshE"

(A) Pooja Rani

(B) Dingko Singh
(C) Amit Phangal
(D) Shivaa Thapa

95, Which revolutionary leader made ‘mercy
petitions” from jail?

(A) V. D, Savarkar

(B) B. G, Tilak

(C) Sukhdev Thapar

(D) Chandra Shekhar Azad

D-17

ML drEx

MTS/21
I, Hwats mof 5
\A) S opfarg s ateta e Afe
CATHA] |
(B) el e
() :!":rﬁl T rvsferra] |
(D) «aff =

)f G e i aeafer e
S e fiawr o

(A) T35 wifewieneT

(B) IRl ST

() WIZ i SRty

(D) ©7® BIE! S

3. =i fRraives 19e & Reew (1922-24) 7
(A) TRZH A AGe]
(B) To=ral FuE=
{(C) = e
(D) W et A A,

94, i CoN TowEEY TR Arefew
42 TR T TS AT | U e
(A) =@ T
(B) feeac e
(©) wfie P
(D) A

95, @ fagd (el (EE N w3y it
0 ¢
B) A fer, fyere
(C) G Clefls
(D) EEH{"T’{.‘TWW
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101. A heavy body and a light body have equal 1'“-_1'_ b WI?I 0 6 aah T gk
kinetic energy. Then RS | TR I T
(A) heavy body has greater momentum, CAY R oun SR S :
(B) light body has greater momentum, : _ e St el A
LA (B) et by it wRras A

(C) both have equal momentum.
(D) both have same angular momentum,

(C) Wb sHrRs AR TA
(D) b @ (R A el




(C) Barakar
(D) Kangsabati

105. Which commodity tops the current list of
imported commodity of India? '
(A) Gold
(B) Platinum
(C) Petrolium products
(D) Petrolium crudes

106. Which is the Direct Tax in India?
(A) VAT -1.D
(B) GST — +°
() Wealth Tax
(D) Excise Duty

. SIS e o7 @b
(A) VAT
(B) faanib
ey e
(D) @&



by

(A) 1905
(B) 1911
(C) 1931
(D) 1947

it 110, When did Sakabda commence? |
| (A) 18AD.

(B) T8 B.CE.

(C) 178 BCE,

(D) 178 AD.

111. The spectrum of color in Compact Dise
(CD) is due to

(A) Refraction
(B) Reflection
(C) Diffraction
(D) Polarization

(A) 78AD. —
(B) 78 B.CE.
(C) 178 B.C.E.
(D) 178 A.D,

U1, #wAg % (CD)-¢s @ 3o opat 018 ©F
iR

(A) fEnas
(B) =l
(C) woadq ()
(D) wwads



(A) Alexander Cunningham

\ (B) Jo Vi
\(C) Wi iam-JD[les S
D) David Hare iy

i

11& Wht}ma:{mn '
~ Totbelong to the Aligarh School?

- (A) Anil Sea]
- (B) Irfan Habib

Programme is associated with
(A) Worshipping the Ganga
(B) Canal irrigation from the Ganga
(C) River linking with the Ganga
(D) National Mission for Clean Ganga

115. Khajuraho, the City ofthe Gods’ a UNESCO
World Heritage Site, the name of which was first
referred in the 11th century CE by

(A) Ibn Battuta

(B) Ibn Sina

(C) Abu Rihan Alberuni
(D) Omar Khayyam

116. Who was known as the ‘Sher-i-Bangal'?
(A) Fazlul Haque
(B) Haji Muhammad Mohshin
(C) Maulana Abul Kalam Azad
(b) Nawab Salimullah

114. Started in June, 2014 by the Union |
Government of India, the ‘-Nafﬁ&nifﬁ"f;;\

/],H. (TR i (S offeb wr s
(A) Sitzresiomn aifim
(B) & 5w Ry
SLT S o et

(D) cefes e

HEET w y ey

(A) oo Him
®) Zeem e
(C) 7= zFilm

[ :
(A) ST R

(B) =% e S=can
(C) oPR el w3 e

(D) s Afteres wrET S

115, a9 %123 g UNESCO T R
EfhT AD, @b ge o 29w TE Ew

(A) To9 U

(B) %= Hief

(C) =R T SR
(D) ‘@ tm

6. ‘(AR B T LS
(A) o T
(B) Bifty T8 A
(C) (TEw WEE [ WG
(D) w=4 TS

Please Turn Over




119, .‘I‘hc"«ir’ailty of Kashmms!acmdmbﬂw _
the following ranges S
(A) Zaskar a:nd Pir Pan_;al
(B) Zaskar and Karakoram
(C) Karakoram and Shiwalik
| (D) Zaskar and Shiwalik

120. Which
', Dahsala?
' (A) Balban
(B) Feroz Tughlag
(C) Sher Shah
(D) Akbar

11
(CI

121, A pendulum clock that keeps correct time
on the earth, is taken to moon, It will then run
(A) at correct rate,
(B) 6 times faster,
(C) 6 times faster.
(D) V6 times slower.

al ruler introduced Ain-i-

(€) N6 o1 w7 berca |

(B) 6 8w yora



D-23

Pt T
s N

(&) g
(B) @ -
(C) ufgs

D) St o sy %

[
T

123, Pot 659 43 2l Ploteras s . B
(A) k
(B) k2
(©) 2
(D) 4k

[lﬂ wTes FRLe T e
(A) o
(8) A

(BJ. mw&ﬁ zmwrtaf.je
'(c')'-qw iR, 2017 wﬁm
(D}'. - 2018 iy




131. Kurnool-Ki
the following rivei
(A) Cauye
(B) Krishna
() Tapti
(D) Tungabhiadra




21_32. Sandhyakar Nind

& . {was the coutt poet of fhe
(B) Senas

(©) Hussain Shapi,

(D) Palag

o

133, Family Income Cleilin
_Sche‘mg‘:is. not applicable if
(A) the girl is physically challenged.
{B) the girl is an inmate of 17 Home,
(T} the girl has lost both parents.
(D) All of the above

g for 'Kanya:shr'ee

134, The Hindi film ‘Padman’ released in 2018
was inspired by the true life story of :
(A) Arunachalam Muruganantham

(B} R.Balki
(C) Akshay Kumar
(D) Bindeshwar Pathak

135. Vikramsila Bihara was founded by
(A) Devapala
(B) Dharmapala
(C) Rampala
| {D) Sasanka

136. The ChiefJustice of High Courtis appointed
by the
| (A) Prime Minister
(B) President
(C) Chief Justice of the Supreme Court

D-25

(D) Cabinet

132, 111 76) v anvmaras el R
(A) G amsos
(B) 5 arzaes
(C) =D areaes
(D) =l e

%*ﬁm TR S s oarw
fidailes simrs CHEm sme; o 26
(A) =G =3 fems) =
(B) #=1iG 1) Home-«% =7 23|
(C) =D =15 210 goiers 2ifarm 9
D) Sritzm Amay

134. 2018 ¢ & =rex “=iww Bf SomS i
Sl 1 Wowty Wik, fof
(A) Arunachalam Muruganantham
(B) R.Balki
(C) Akshay Kumar
(D) Bindeshwar Pathak

}a{. e fem @ 7o ey
(A) (Rem .
(B) o
(C) Ao
(D) =iz

}JEL 2R 2w fvreaf fre =
(A) ZUFTEE 91Al
(B) 2B are
(&Y B e sl Fevraefen 4w
(D) Ffab-67 wrat
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it mﬂj t Leader is known

dia’?

Governor -Genefﬂ of Iﬂdi‘# . _
ated Civil Disobedience.

}"G-/ (RPIFI 1A TG T T 2
(A) 1905
AB) 1911
(C) 1901
(D) 1947

(Cy 180
() 1947

141. Sharavati Hydroelectric Project is located 141, ‘ﬁintq@[ mﬁlﬂg S (i WAy~
mn: i Z
(A) Kerala (A) CWW
(B) Karnataka (B) 'ﬁ‘ﬁﬂ@
(C) Maharastra (C) W

(D) Madhya Pradesh (D) STy




sy
MTS21

142. Who coine
> : d the Slogan . i |
i right'? logan Swaraj is my birth o i
IS M2 e iy et mfeere’ — w7 T

Ay ‘s{ma}ak DatmodssiSeie (A) o= v e
(B) Vasudev Balwant Phadke B) 3o i
(C) Bal Gangadhar Tilak u-
(D) Balkrishna Chapekar

ST AT

(D), 51921 Birefzr

143. ‘What was the "Eka Movement'? RS
(&) A Religious movemerit e TR ey
(B) A Peasant movement = (A) @b 4l aifrpemy

(C) A Secret revolutionary movement (B) @9 g it &
(D) None of the aboye -. : ' (C) @b oot a2 wiewnen

(D) Coa9 mmite o

? 144, When was the ._Un'i'.?e,r,si.tjr

éstablished? of Carcut

. e fesfames o i aifefore zn ¢

(A) 1911 T ' g--ilgn
(B) 1817 | 17
(©) 1854 (C) 1854
(D) 1857 (D) 1857~
145, Article 18 of the Indian Constitution )4»(3;"* : . =
guarantees the right to ; : e Tw 18 4% SRt 2 amme —
(A) Equality (A A
{(B) Freedom (B) “—5@7\@.
(C) Freedom of Religion (C) &g w&ere
(D) Right to Constitutional Remedies (D) =i afefms wives

146. To which following movement is the term 146. Toawe' * sk @w e

‘ulgulan’ associated with? I G 7
(A) Munda uprising (A) TS e
(B) Santal uprising (B) el wereia

(C) Kol upnising
(D) Gurkha uprising

(C) i S
(D) ool s

Please Turn Over




147. In West Bengal, Export Processing. Zﬂﬂﬂ
(EPZ) has started functioning at

(A) Raichak

(B) Falta

(C) Kakdwip

(D) Haldia

_ 148, Although the final match haxwaen E.'
1 1 and New Zealand wasa ue, = ',

(B) EnglandwonSupet_l et
| (C) England won by toss.
! (D) New Zealand lost for match~,

on water are
{A) transverse
(B) longitudinal
(C) longitudinal and_transvar‘s_é.-;
(D) stationary ]

150. Who won the French Open in 20217
(A) Rafael Nadal
(B) Stefanos Tsitsipas
(C) Daniil Medvedev
(D) Novak Djokovie

151. The following state is the highest producer
of tin in India :

{A) Rajasthan

(B) Odisha

(C) Jharkhand

(D) Chhattisgarh

MTS/21 D-28

149. The waves produced b}r motor buat ’smhng 5

ssing Zone'

0 WGMWWWMMW

e oW T &
(A) #ergm
(B) oftsf
(C) AT
(D) wfe=e
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—
iy IKJ:\‘J
D.2¢
€T diy; o
ides W NI
West Bengy (/75
( 153/
Y e Mr8/2;
j"f’T?TF & RIS ‘I?ﬂ 'P-_Cin "
) 1Tl afares i _-';Trﬁn“‘.m 9}%
{AI '.Thf::-’.a; | .
5 7
flj} 'J—]!'.mlm = :{f

(D) =

Name of Titumir>
y Amanuﬂah Khan % cl G- fﬁrrq? T iy S -
5 (A) ?HH?T]T"W Lie
Lir Muhammad Khap /:C} Wmﬁvw&

map is published . ©IrE FEERT s o Gt

(A) NATMO
( T (B) GSI.
D) zs1 e (C) SOI
; S (D) ZSl
,5
1 ISEa . Lo
: 55, Money Bijj i finally determined by f{ et poTTeld YT e
-; (A) Prime Minister (A) 2
'. gg’ Speaker (B) e
i %) mer of the opposition party (C) ﬁrﬁﬁf‘m
ident }D} g _
% fdifow &
I Ik 711
-Prﬁﬂf_dam of India is elected by faatl- A) AT ST w-lm Q
(A) Members of the Parliament. (H ot FaeOPTR gy P
) o |

! ;;];J! Mﬂmhm of the State Assemblies. ot @R i bk
Q) Dil_‘ﬁcﬂy by the people. () ¥ ,?.nﬁwﬂ“'m"ﬂ:“
D) Both the Houses of Parliament along AT
_ With the Members of the State wared ¥
Assemblies.

AL Ll
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157. A vehicle covers half the distance with

uniform speed v} and the other half with uniform

speed vy, The average speed of the vehicle is

o)

Nene of the above
159, Which Bengal poet composed the song
‘Ban eshechihe mora gange’ during the Partiti onof

)

Bengal? .
(A) R#bi-ndr:a.uam Tagore
(B) Lalan Fakir

(C) Kazi Nazrul Islam
(D) Mukunda Das

160, The chopping of an onion makes one cry
because of the chemical containing :
(A) Sulphur
(B) Chlorine
(C) Bromine
(D) Nitrogen

161, Central Rice Research Institute islocatedin
(A) Cuttack
- (B) Dhanbad
. (©) Kanpur
ﬂ}j Coimbatore

157, aaft A TS A ST qf, :
yy 78 oot SRR I vy TG IS R

1 | ikl

W.ﬁ_ﬁ.m

e
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162. Dilatometeris used for the measurement of

(A) electrical energy

(B) mechanical energy

(C) dimensional change in materijal
(D) thermal energy |

163. The Election Commsssmn is cemtmcttd
by the

(A) Vice-President
(B) Prime Minister
(C) Preszdcnt s Sl
(D) Chief Justice of lnﬂia'..

virus responsible for Covid-19 disease is
(A) SARS-CoV-2. |
(B) Covid-19
(C) nCovid-19
(D) Corona Virus

165. Who wrote ‘Poverty and Unbritish Rule in

[ndia™?
(A) Ramesh Chandra Dutt

(B) Dadabhai Naoroji
(C) A.O.Hume
(D) Amartya Sen

166. Who said,“An eye foran eye will make the

whole warld blind™?

(A) Martin Luther King
(B) M. K. Gandhi

(C) Nelson Mandela

(D) Karl Marx

164. Accordingto WHO, the official name of the | 1

162, f@:‘mrﬁmm muammeterj
VIS 5779 :
(A) fe =ifis
(B) uifes =fe
(C) it wraiere wAfee
(D) 19y #ifes

163. Fioe fme st sz
(A) Toamefe
(B) elterd)
(C) ageife
(D) starea 24w fndfe

tmonﬂa Ww Covid-19 @A @0 W&l

~ (A) SARS-CoV-2
(B) Covid-19
(C) nCovid-19
D) = Sl

165: ‘Poverty and Unbritish Rule in India’ g%
B @Y '

(A) STA*BH 78
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(D) S O g

166, (3 qCATEH, (T LA BT foremt e <ffe

e &0 A ?
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(B) ¥, G, LIk
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Khilafat mev::ment oL
(A) India
(B) Arab
(C), Tran 5
(D) Turkey

168. Gandhiji was i
(A} T@ismy

(A) Stgwe =er
(B) (51 SIS
(C) =121 9rey

(D) Ferwsm 7E1E)

1'@“’ Joseph Robinette Biden Jr. 3059 e
W—E au-m digefe| B @ e S
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| (X TamiEfEe Al
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(D) =it <A
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174. Whoamong the following froedom fighters
did‘ not_ belong to revolutionary (militant)
nationalism? ;

{A) Veena Das

(B} Santi & Suniti

(C) Matangini Hazra

(D) Kalpana Datta

175. Mica producing district of West Bengal is
(A) Bankura
(B) Paschim Bardhaman
(C) Birbhum
(D) Purulia

176, ‘DUMA’ is related to ‘Russia’ in the same
way as ‘ECCLESIA’ is related to

{A) Bhutan

(B) Afganistan

(C) Greece
(D) Germany

175, ARSTAs o Bestimer® coe =
(A) dr!
(B) =AM g
(C) Faew
(D) =f=feran

176. "DUMA’ 2ff ‘Russia’ &, 979 ECCLESIA®
2 gas et 2.
(A) Bhutan

(B) Afganistan

(C) Greece

(D) Germany
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177. Manoj can type 100 pages of a repoft in
_ 10 hours and Bobby can do the same in 15 hours..
" They worked together for 5 hours. The mmninlug
work was completed by Lucy in 2 hrs. If fhay
received Rs. 2,400 for whole wark, Luf:}t gﬂt b,
(&) Rﬂ: 300
(B) Rs.250
(C) Rs.200

179. Choose the wordinthe
in meaning to the capitali
WINSOME
(A INSIPID
(B) UNATTRACTIVE
(Cy PREIUDICE
(D) OPPOSITION

180, Should the number of holidays of
government employees be reduced?

Argument; |, Yes: Our government employees
are having the maximum
number of holidays among
countries of the world.

. It is a sign of British legacy
which should be carried
forward.

i+ 1t will speed up work and all
pending jobs can be
completed well in time.
Employees must be given
ample spare time (o spend
with family.

Only “1"and '3 are strong.
y Only ‘1%, 2" and *3" are strong,
) Only ‘27 is strong.

None is Strong.

Ttk 100 #irer sl e 52
: “‘ wrmfhsﬁmw-ﬂm-u
B oo | @it 0 A 2 0T
e ey Al R0 2,400 T

J& —.;r vrﬁma AT AT
EBIHT Tty 5 A
ment B |

(A) P99 1" e '3 o eicare |

(B) R 17427 e 137 (< 2T
(C) a2 ooy eyearre |

(D) IS sirrey
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(A) 53683 cm.
®) Jes164 cm, “
© FRgem
(D) V82547 em,

182. 480 studen
NCC. What perce
NCC?
(A) 70%
(B) 68%
(C) 73%
(D) 649%

tS out of 1500 are enrolfed

183. A building which is 64 feet high' cast a
shadow of length 96 feet. The height of telephone
tower, which cast a shadow of length 180 feet,
under similar condition is

(A) 80 feet
(B) 100 feet
(C) 120 feet
(D) 90 feet

184. ‘School is rélated to *Student® in the same
way as ‘Hospital” isrelatedto .
(A) Medicine
(B} Nurse
(C) Doctor

Atage of students are ot there in

(D) Patient

:Cﬁﬁ'ﬂ e Gl FeTm
‘T%@I e %GT F5 0

@A) V53683 cm.
{B) '-@TEZ cin,
(©) V75816 cm.

@) 8%
©) 73%
(D) 64%

EK
il
183, 6490 O 3 Y gum G 96 1518 —
%2 ¥MTE 180 5 =D C5Rarm Slearaa st o

T 2 )
(A} B0 %5 hi_l.r ;._&foum
(B) 10075 ‘3?; z ':wlgﬂg
€T 1206 u 5 ,5: 51:_ For
(D) 90 %0 oA 6 H : e Y

184, ‘School' 4fd 'Student’ 82,97 ‘Hospital'

Ay

(A) Medicine
(B) Nurse
() Doctor

[y-] “Patient
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185. Pointing to a gentleman, Somenath said
“His only brother is the father of my daughtet’s
father”. How is the gentleman related to Somenath?

(A) Brother-in-Law
(B) Uncle

(Cy Grandfather
(D) Father

186. Today is Thursday, the day after 59 days
will be

(A) Sunday

(B) Thursday

(C) Frniday

(D) Saturday

| coincide in-a day?
(A) 24
(B) 20
(c) 21
(D) 22

187, How many times do the hands of

188, Mohan takes 6 hours todo ajoblaltuf&kés e
10 hours to do the same job. How long should it |
take if Mohan and Laltu work together the same

job? '

1
(A) 15 hrs,

(B) 3% hrs.

(C) ?-% hrs.

(D) 3311- hrs.




199, Given set (7. 177, 140) then
(A) (9, B8, 180)
i, (B) (6,66, 1203
(C) (8. 80, 166)
/ (D) (4, 10, 160)

follows

19.1' Naseer started from ‘X' point and walked
Sﬂ'ailghl 5 kms west, then turned left and walked
S[fi-lllgh! 3 kms and again turned left and walked
straight 7 kms. In which direction is he from point
axe?

(A) South-East

(B) North-East

(C) North

(D) North-West

';]9'2. A trainis 150m long. Itis running at af;pes:d
of 41 kmph. A man is running at 11 kmph in the
- direction as the train. In what time will1t pass
(A) 18 seconds

(B) T% seconds

—1—= seconds

© 355

i1 8
b (D} Ei seconds
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193, Exclusive Proposition Whichis the correct
VM
if a person 1% rich, he has 1ot of nfluence
AT Alok haz a lot of influence; so hi
dch
(B) Ifapersonisnotrich he does not have
a lot of influence
() Tapas is nch and so he has a lest oof
influence

D) Poor people cannot have influence

194. Pomnting towards a girl in the picture,
Meghna said, “She 18 mother of *Thuma’, whose
father s my son’ . How s ‘Meghna' refated to the
gifl in the picture?
(A) Mother
(B1 Auomt ‘
(Cy. Cousin o
D) Grandmother

D

195, Exclusive Proposiion: Whichis the correc

option”

Many smokers get cancer.
(&) Cancer patients are &M
B) hlosi simiokers gel Cancer.
Mmrhng gy lead (o cancer
Dy Smoking 18 injurious 1o Ib:nill.h.
gt
¢ 1

okers

196, Todey it Monday, alter 61 days it will be
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197. What is the missing numbey?
12. 19, 8, i
(A) 3
(B) 12
() 5 P A
@] Ny ey

198. What is the missing number?

v'3 40,537,101, .
(A),320 0
) 226 ’ L7
E.C} 2-”6 -

(D) 402 &

199. Should seniority be the only criterion for

the promotion’’

Argument: 1. No: It would be an injustice to
those juniors who are
deserving and suitable for
promotion than senior
counterpart.

2. Yes: Otherwise senior employees
may feel humiliated.

3. Yes; Senior employees are more
experienced and must be
rewarded for the same.

(A) Only ‘1" is strong.

(B) Only ‘1" and ‘2" are strong.
<4C) Only ‘1" and *3' are strong.

(D) All arguments are strong.

D;?:J*;n ?E“l“ sive Proposition: Which is the correct
All students are not genius,
(A) Every student is not genius.
(B) Many students are not genius.
(C) Many students are genius.
(D) Every non-student is a genius.

15 5 :
" ‘I? ot 0 MTS7) |
2,19, 8 N g
(A) 1 — o 3
B 12 \ %y ’
(€) 5
(D) 1 i
e

198, ‘7 Bfee w1 i wra e

1,2,10,37,101, __ 1
(A) 320 |
(B) 226
(C) 206
(D) 402
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